
S4(5).2 (mod 13)

blocks defect matrix

G : 1 1 7× 4
2 1 7× 4
3 0 261 = χ2+, ϕ2+

4 0 651 = χ5,0, ϕ5,0

5 0 652 = χ5,1, ϕ5,1

6 0 653 = χ6,0, ϕ6,0

7 0 654 = χ6,1, ϕ6,1

8 0 1561 = χ7+, ϕ7+

9 0 1041 = χ10,0, ϕ10,0

10 0 1042 = χ10,1, ϕ10,1

11 0 1043 = χ11,0, ϕ11,0

12 0 1044 = χ11,1, ϕ11,1

13 0 1045 = χ12,0, ϕ12,0

14 0 1046 = χ12,1, ϕ12,1

15 0 1301 = χ13,0, ϕ13,0

16 0 1302 = χ13,1, ϕ13,1

17 0 1562 = χ14,0, ϕ14,0

18 0 1563 = χ14,1, ϕ14,1

19 0 4161 = χ15+, ϕ15+

20 0 6241 = χ17+, ϕ17+

21 0 6242 = χ19+, ϕ19+

22 0 6501 = χ21+, ϕ21+

23 0 7801 = χ23+, ϕ23+

24 0 5201 = χ25,0, ϕ25,0

25 0 5202 = χ25,1, ϕ25,1

26 0 5203 = χ26,0, ϕ26,0

27 0 5204 = χ26,1, ϕ26,1

28 0 5205 = χ27,0, ϕ27,0

29 0 5206 = χ27,1, ϕ27,1

30 0 6243 = χ31,0, ϕ29,0

blocks defect matrix

31 0 6244 = χ31,1, ϕ29,1

32 0 6245 = χ32,0, ϕ30,0

33 0 6246 = χ32,1, ϕ30,1

34 0 7802 = χ34,0, ϕ31,0

35 0 7803 = χ34,1, ϕ31,1

2.G : 36 1 8× 2
37 0 1047 = χ37+, ϕ34+

38 0 1048 = χ39,0, ϕ36,0

39 0 1049 = χ39,1, ϕ36,1

40 0 1564 = χ40,0, ϕ37,0

41 0 1565 = χ40,1, ϕ37,1

42 0 4162 = χ41+, ϕ38+

43 0 5207 = χ43+, ϕ40+

44 0 6247 = χ47+, ϕ44+

45 0 4163 = χ49,0, ϕ46,0

46 0 4164 = χ49,1, ϕ46,1

47 0 9361 = χ50+, ϕ47+

48 0 5208 = χ52,0, ϕ49,0

49 0 5209 = χ52,1, ϕ49,1

50 0 6248 = χ56,0, ϕ50,0

51 0 6249 = χ56,1, ϕ50,1

52 0 62410 = χ57,0, ϕ51,0

53 0 62411 = χ57,1, ϕ51,1

54 0 62412 = χ58,0, ϕ52,0

55 0 62413 = χ58,1, ϕ52,1

56 0 62414 = χ59,0, ϕ53,0

57 0 62415 = χ59,1, ϕ53,1

58 0 7804 = χ60,0, ϕ54,0

59 0 7805 = χ60,1, ϕ54,1

Block 1: ϕ1,0 ϕ4,1 ϕ9,0 ϕ28,1

11 = χ1,0 1 . . .
402 = χ4,1 . 1 . .
901 = χ9,0 1 . 1 .

5762 = χ28,1 . 1 . 1
5764 = χ29,1 . 1 . 1
5766 = χ30,1 . 1 . 1
6252 = χ33,1 . . 1 1

ϕ1,0 = 11
ϕ4,1 = 402
ϕ9,0 = 891
ϕ28,1 = 5362



Block 2: ϕ1,1 ϕ4,0 ϕ9,1 ϕ28,0

12 = χ1,1 1 . . .
401 = χ4,0 . 1 . .
902 = χ9,1 1 . 1 .

5761 = χ28,0 . 1 . 1
5763 = χ29,0 . 1 . 1
5765 = χ30,0 . 1 . 1
6251 = χ33,0 . . 1 1

ϕ1,1 = 12
ϕ4,0 = 401
ϕ9,1 = 892
ϕ28,0 = 5361

Block 36: ϕ32+ ϕ42+

241 = χ35+ 1 .
6001 = χ45+ 1 1
5767 = χ53,0 . 1
5768 = χ53,1 . 1
5769 = χ54,0 . 1
57610 = χ54,1 . 1
57611 = χ55,0 . 1
57612 = χ55,1 . 1

ϕ32+ = 241
ϕ42+ = 5761


